BCM SCHOOL BASANT AVENUE DUGRI ROAD LUDHIANA
SUBIJECTIVE ASSIGNMENT XISC (MATHS)

M.M:2

[Hint: Number of straight lines = 18C, - °C, + 1.]

Show that for any sets Aand B,A=(ANB)u (A -B)and
Au(B-A)=(AuUB)
PROVE IT WITH THE HELP OF DISTRIBUTIVE LAW

Let T be the set of students who like tea and C be the set of students who like coffee.
Here n(T) = 150, m (C) = 225 and n(C' N T') = 100

We know that n(C U T) = n(C) +n(T) —n(CNT)

=150 +225- 100 = 275

.~Number of students taking either tea or coffee += 275

.~.Number of students taking neither tea nor coffee = 600 - 275 = 325

Given f(x)=3x -5

For 27-71*) must be real number

= 3% =5 must be a real number

Which is a real number for every ¥ &
=Df =R ... ()

Jor Rf, |t ¥=f(x)=3x" -5
We know that for all *&.x 20=3x =0
=3 -5zS5=yz 5= Rf =[-5.x]
Funthes, as—3 € Df, /(3] existsisand /(-3
=3(-3) -5=22

As 43 Rf on putting y =43 is (i) weget

3 -5=43 = 3 =48 = x =16 = x=—4 4.

There fore —4 and 4 are number

is D7) \which are associated with the number 43 in &

The alphabetical order of RACHITis A, C,H,l,Rand T
Number of words beginning with A = 5!

Number of words beginning with C=5! Number of words beginning
with H = 5!

Number of words beginning with 1 = 5! and
Number of words beginning with R (i.e.) RACHIT =1

=~ The rank of the word 'RACHIT" in the dictionary = 5! + 5! + 5! + 5! + 1
=4x5+1=4x5,4,3.2.1+1=4x120+1=480+1=481
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Hence, a2+ bZ2=1and b/c=1 and b/c = 2c/(c%-1)




LHS =cosa+cosBrcosy+cos{a+pB+vy)
=(cosatcosB)+[cosy+tcos {a+pB+vy)]

= ZCOS(a;B).CDS(%B) + 2(:05(@). cos(@)

[+ cOos X+ Cos ¥ = 2¢0os (i;)cos(x;y)]

= 2cos( “;B) . COS (“T_B) +2cos( miﬂ") . €COs (%B)

[+ cos (—x) = cos x]

= 2cos (%B) [cos (%B) + COS (m?z"")]

a—B, atB+dy a-p_ a+p+2y
+
= 2COs (“TB) [2::05 (%) . COS (%)]

= 2cos (%B) [2 cos (QTW) . cos( -Bz-v)]
= 2cos (%B) [2 cos (QTW) . cos {{~- (B;vJ)}]
= 2¢cos¢( “;B) [2 cos (QTW) . COS (%}]

[~ cos (—x) = cos x]

= 4cos(°‘T+B). cos{%}. cos(aTW)




